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Установите соответствие между репликами-стимулами и ответными реплика-
ми. Выберите один из предложенных вариантов ответа.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ РЕПЛИКИ

1  — We aren't having a holiday this year.
2  — I simply can't stand the sight of him.
3  — I'm starving.
4  — I'm sorry to say, but we haven't come to any

decision yet.

 

A  — Let's have a break then.
B  — How come? Can't you afford it?
C  — What a pity!
D  — We must admit, we can't either.
E    — Please go on    — I didn't mean to interrupt

you.
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